Identify the choice that best completes the statement or answers the question.

L.

2

Write the number 0.853 1n scientific notation.
a. 0.353x10°

b. g53x107?

c. g53x10"

d. 853x107"

Simplify (4%)*.

a. 41'5

b. 322

C. 45

d. 41

Which list shows the numbers in order from least to
greatest?

A 27x107% 27x107%,72x 107

b a7x107 27x 102 7.2 %107

C. 27x107 72x107%, 2.7x 107

d 7z2x10% 27«10, 27x 107

Write the number 7.45 x 10° in standard notation.
a. 0.00745

b. 7.450

c. 745

d. 74,500

Evaluate (~3)™".

a. —81
b. L
81

c. L
81

d. 81

Divide. Write the quotient as a power.
8
8

g

a. 40
b. gi
c. gl

d.  Cannot combine

Write (31(3)(¥)(3) in exponential form.

a. 4”
b. ys
c J,.‘f
y
0, 6
Simplity I_J:
z
a. 91}‘62?
b. Elyﬁ
27
c. gz
3
d. 9
yﬁz?

Divide. Write the quotient as a power.
1610
17
a. 109
b. 1513

€. Cannot combine
167

o



10.

11.

14.
Evaluate @"2™ for @ = -2 and & = —3.
a. 1
9
b. 0
c. _2
9
d. -9
. . 9y14 15
Simplify -
gy
a. qu?
b. quu
¢ gy
d. Cannot simplify
16.
Simplify (2.2 x 10™)+ (1 x 10%) and write the
answer in scientific notation.
a. zzx10t
b. 22
c. z22x10t
d z22x107
17.
2
7
Simplify [%] :
xry
a. 14
xTye
b. 3}:1'3
ys
C. gx°
y-s
d. 16z
8
Y 18.

: . 3 -2
Simplify [I] .

a.

)

3
b. 18
9
c. 2
16
d -2

Multiply [5.6 X lﬂ_?j [6.1 X ID"'Jaud write the

answer in scientific notation.

a. 3416x 107
b, 287x107

¢ 34.16x 107
d 3416x 107

Simplify m’ -y's om.
a. mﬁyﬁ
b ey
C. myﬁ
d. mtyS
0,_-2
Simplify Zla _ES
k
a. 3"
i
b. -3
s2i®
c —apstk®
d g
i
EPR-
.ok
Simplif .
plify (ab)?
a. ﬂ'3bl‘
b. Cannot simplify
C. gh°

d 438



g 32
Simplify [ 34I4 ] :
Xy

d. ﬁ?i'm
yd
b. 9
+5 ys
C. hx®
y_a
d ax®
.}?3

Simplify (7x 10%)+ (1 x 10”) and write the answer
1n scienfific notation.

a. 710
b. 7

c. Tx10°
d. 7y¢10°
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